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Corporate Accountings
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Note;  Answer all question. All Question carry equal marks,
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What do you understand by forfeiture of shares? Give general entries for forfeiture and reissue of shares.
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Forge Company Limited issued 10,000 6% Debentures of Rs. 100 each at par on 1st April, 2019 payable as
follows: -

On application Rs. 40, On allotment Rs. 35, and on call Rs. 25 (on Ist august. 2019) Application were
received for 14000. debenture and all the application money was received by 15, May 2019. Allotment money was
made on Ist June. 2019 and allotment money was received in full on 25th June, 2019. The call was made on the due
date and full paid on 20th, August, 2019 Expenses on issue of debentures amount to Rs. 470. pass necessary
general entries (including) cash transaction in the books of the company.
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What is divisible profit ? What various provisions have been made in companies Act regarding the
distribution of dividend? Can the dividend be paid out of reserves?
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The following items appeared in the Balance Sheet of a limited company as on 31st March, 2019 :-

(i) Authorised capital: 50,000 shares of Rs. 100 each.

(ii) Issued capital: 40,000 shares of Rs. 90 paid up.
(iii) General reserve: 20, 00,000



(iv) Profit & Loss Account: Rs. 786,000

At the company Annual general meeting hold on 27th May, 2019 the followng resolution were passed:

A) To pay cash dividend of Rs. 15 per shares.

®B) To declare a capital bonus of Rs. 25 per shares to be satisfied partly by milking the existing
shares fully paid and partly by issuing fully paid bonus shares at a premium of 20%.

© To pay Rs. 70,000 to the company staff as anniversary days bonus.

These resolutions were given effect on 15 June, 2019.
Pass the necessary journal entries in the books of company to recorded the above transaction.
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From the following information find out the amount of goodwill :-

() As per annuity method.
(ii) As per four year's purchase of super profit method.
(iii) As per capitalisation of super profit method.

(a) Net profit for four year's :- first year Rs. 30,000 second year Rs. 40,000 , Third year Rs. 5,000
fourth year Rs. 60,000

(b) The profit includes non recurring profit on an average basis of Rs. 3000

(c) The average capital employed is Rs. 300,000

(d) The normal rate of Profit is 10%

(e) The present value of annuity of Rs. 1 for four years at 10% is Rs. 2.50
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What do you understand by valuation of shares? Discuss and illustrate the different methods of valuation of
shares.
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Shyam company Limited amalgamated the Balram company Limited with the following  assets and
liabilities of Balram Company Limited :-

Fixed Assets Rs. 62000 share capital = Rs. 9000

Current Assets  Rs. 33,000 general Reserve Rs. 20,000

Sundry Liabilities Rs. 8000

Shyam Company Limited paid the following purchase consideration to Balram Company Limited.



() 5% Debentures Rs. 20,000 listed value at 5% premium.

(ii) Balram with shares of Rs. 1 paid up value 75 paise

Give journal entries in to book of Balram company Limited.
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What do you understand by Reconstruction? Distinguish, between internal and external reconstruction,

When is it necessary?
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Explain various schedules which are prepared in Bank's final Accounts.
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From the following Balance sheet X company and its subsidiary Y company.

2019 Prepare a consolidated balance sheet as at the date
subsidiary company, the reserve

drawn up at 31st March
on the date of acquisition of 80% shares in the

and profit of Y company amounted to Rs. 12500 and Rs. 7500 respectively.
Balance sheets of X company and Y Company as at 31st March, 2019

Liabilities X Y Assets X Y
Company Company Company Company
Rs. Rs. Rs. Rs.

Share capital 250,000 50,000 sundry Assets 395,000 125,000

Reserve 100,000 25,000

Profit and shares in Y company 400

Loss A/C 50,000 25,000 at Rs. 200 per share

creditory 75,000 25,000 80,000
4,75,000 1,25,000 4,75,000 1,25,000




